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Explain why umbrella fabric is usually made from polyamide fibre.

[6 marks]




With reference to the Health and safety at work act 1974, explain the health
and safety responsibilities of an employer to ensure workers are safe when
working with textiles.

[9 marks]
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In the fashion industry, a designer will often use digital technology.

Explain the advantages of using digital technology to communicate design ideas.

[6 marks]




The cost of fabric from Company A for 250 pairs of denim jeans is £1260.
17% of the fabric is waste.

The cost of fabric from Company B for 200 pairs of jeans is £1350.
One-eighth of the fabric is waste.

Which company is the most cost effective?

Show your working out.

[3 marks]
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Evaluate the impact the production of fashion products has on the environment.

In your answer you should make recommendations for how this impact could be
reduced in future.

[12 marks]
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@ One of the most iconic garments of the early 1960s was a tuxedo suit for women.

Explain why this garment was considered shocking and attracted media attention at
the time.

[6 marks]




Discuss cultural factors facing a designer today.

[12 marks]
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The rectangular cushion shown below has a hexagonal patchwork pattern.
The cushion width is 40cm. Each of the six equilateral triangles is identical.
What is the height of the cushion?
Give your answer to 1 decimal place.
Show your working out.

[4 marks]
40 cm
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'8 |.]2]| The cost of the materials for the cushion is £2.75.
The manufacturer wants to add piping around the outer edges of the cushion.
The trim costs 90p per metre.

What will be the percentage increase in the cost of materials if the trim is added?

[2 marks]
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19 |. |1 Explainwhy polyester fleece is a popular choice for children's sleepwear.

[6 marks]
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19 |. | 2] Explain the construction of a polyester fleece fabric.

[4 marks]
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Explain why dye sublimation printing is suitable for polyester fabric.

[6 marks]
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11| .[1 |  Study the data shown in the table below.

Use of fibres in textiles manufacturing
1990-2010 in tonnes (x 000)
Cotton | Viscose | Polyester
1990 17941 1764 22679
2000 20671 2995 30288
2010 23700 4811 49765

Complete the graph using the data given.

[1 mark]
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Give a detailed explanation of the trends and account for the differences in use of the
three fibres between1960 and 2010.

In your answer you should refer to the data on the graph you have completed in
question 11.1.

[5 marks]
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Explain why fibres are blended. Give examples to support your answer.

[9 marks]
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113 |. | 1| A manufacturer cuts 16 circular printed logos out of fabric which is 30cm by
30cm

OO0OO
OO0OO
OO0OO
OO0OO

Each logo is spaced 1.5cm from each other and the edges of the fabric.

What is the area of the waste fabric after the 16 logos are removed?

[3 marks]
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113 | .| 2| Whatis the total length cut around the edges of the 16 logos?

[1 mark]

The 16 logos cut will form the ends of 8 pencil cases.
Each pencil case will be 20cm long

What is the total area of fabric required for the 20cm long pencil cases?
Give your answer in number of whole metres required from a 1m wide roll of fabric.

[1 mark]
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Discuss the advantages of using a computer to aid the design and manufacture of
knitted fabric

[12 marks]
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1 15]. [ 1] Describe one mechanical fabric finish and explain why the finish is necessary in
relation to the fibre and fabric characteristics for a specific product.

[6 marks]
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15[ . [ 2] Describe one chemical fabric finish and explain why the finish is necessary in relation
to the fibre and fabric characteristics for a specific product.

[6 marks]
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END OF QUESTIONS
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